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�о 8Eпол=е=8е пу=кт4 10.4.1 DедеD4лL=о7о пDоект4 "&8DDо64O о5D47о64телL=4O EDед4" 
=4F8о=4лL=о7о пDоект4 "О5D47о64=8е", п4EпоDт котоDо7о ут6еD6де= пDе78д8у<о< !о6ет4 пD8 
�Dе78де=те  оEE89Eко9 $едеD4F88 по EтD4те78GеEко<у D4768т8N 8 =4F8о=4лL=K< пDоект4< 
пDотоколо< от 24 дек45DO 2018 7. N 16: 

1. 'т6еDд8тL <етод8GеEк8е Dеко<е=д4F88 длO 6=едDе=8O 6 оE=о6=Kе 
о5Iео5D47о64телL=Kе пDо7D4<<K Eо6Dе<е==KE F8DDо6KE теE=оло789. 

2. Ко=тDолL 74 8Eпол=е=8е< =4EтоOIе7о D4EпоDO6е=8O оEт46лON 74 Eо5о9. 
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О5I8е поло6е=8O 

 

�4EтоOI8е �етод8GеEк8е Dеко<е=д4F88 длO 6=едDе=8O 6 оE=о6=Kе о5Iео5D47о64телL=Kе 
пDо7D4<<K Eо6Dе<е==KE F8DDо6KE теE=оло789 (д4лее - �етод8GеEк8е Dеко<е=д4F88) 
D47D45от4=K =4 оE=о6е 8 <одел8 8=те7D4F88 F8DDо6KE теE=оло789 6 деOтелL=оEт8 
о5Iео5D47о64телL=KE оD74=874F89 (F8DDо6о9 тD4=EDоD<4F88) =4 Dе78о=4лL=о< 8 DедеD4лL=о< 
уDо6=е, оп8D4NIе9EO =4 8EEледо64=8O пеDедо6о7о опKт4 8=те7D4F88 F8DDо6KE теE=оло789 6 
деOтелL=оEт8 о5Iео5D47о64телL=KE оD74=874F89 (F8DDо6о9 тD4=EDоD<4F88). �етодоло78O 
по76олOет опDедел8тL EоEтоO=8е F8DDо6874F88 о5Iео5D47о64телL=KE оD74=874F89 6 
Eоот6етEт688 E пеDедо6K< уDо6=е< D4768т8O 8=DоD<4F8о==о-ко<<у=8к4F8о==KE теE=оло789. 

�етод8GеEк8е Dеко<е=д4F88 EодеD64т: 
- Fел8 8 74д4G8 8=те7D4F88 F8DDо6KE теE=оло789 6 деOтелL=оEт8 о5Iео5D47о64телL=KE 

оD74=874F89 (F8DDо6о9 тD4=EDоD<4F88) =4 Dе78о=4лL=о< 8 DедеD4лL=о< уDо6=е; 
- оп8E4=8е деOтелL=оEт8 о5Iео5D47о64телL=KE оD74=874F89, тDе5уNI8E F8DDо6о9 

тD4=EDоD<4F88 (E уGето< упоDOдоGе=8O по Eтепе=8 пеD6ооGеDед=оEт8 6=едDе=8O F8DDо6KE 
теE=оло789); 

- оп8E4=8е пеDEпект86=KE F8DDо6KE теE=оло789, Dеко<е=дуе<KE длO 8=те7D4F88 6 
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деOтелL=оEт8 о5Iео5D47о64телL=KE оD74=874F89; 
- оD74=874F8о==уN EEе<у 8=те7D4F88 F8DDо6KE теE=оло789 6 деOтелL=оEтL 

о5Iео5D47о64телL=KE оD74=874F89 (F8DDо6о9 тD4=EDоD<4F88) =4 Dе78о=4лL=о< DедеD4лL=о< 
уDо6=е E ук474=8е< уG4Eт=8ко6 8=те7D4F88, 8E Dу=кF89, Mт4по6 8 <еDопD8Oт89 8=те7D4F88; 

- о68д4е<Kе Dе7улLт4тK 8 MDDектK 8=те7D4F88 F8DDо6KE теE=оло789; 
- оп8E4=8е 6о7<о6=KE D8Eко6 8=те7D4F88 F8DDо6KE теE=оло789 8 Dеко<е=д4F89 по 

упD46ле=8N D8Eк4<8. 
 

&ел8 8 74д4G8 8=те7D4F88 F8DDо6OE теE=оло789 6 деOтелP=оEтP 

о5Iео5D47о64телP=OE оD74=874F89 (F8DDо6о9 тD4=EDоD<4F88) 
=4 Dе78о=4лP=о< 8 DедеD4лP=о< уDо6=е 

 

�Dо8EEодOIее Eе7од=O 5уD=ое D4768т8е F8DDо6KE теE=оло789 ок47K64ет 7=4G8<ое 6л8O=8е 
=4 6Eе EDеDK деOтелL=оEт8, 6клNG4O EDеDу о5D47о64=8O. �4д4G4 Eо7д4=8O =о6о9 теE=оло78GеEко9 
оE=о6K длO D4768т8O Mко=о<8к8 8 EоF84лL=о9 EDеDK, 4 8<е==о по6KHе=8е к4GеEт64 687=8 
7D46д4= =4 оE=о6е H8Dоко7о пD8<е=е=8O F8DDо6KE теE=оло789, Eт468т пеDед E8Eте<о9 
о5D47о64=8O =о6Kе 6K7о6K. �485олее MDDект86=K9 от6ет =4 Mт8 6K7о6K - F8DDо64O 
тD4=EDоD<4F8O отD4Eл8 о5D47о64=8O 6 Fело<, котоD4O дол6=4 74тD47864тL H8Dок89 кDу7 
6опDоEо6, 6клNG4O F8DDо6874F8N упD46лONI8E, поддеD6864NI8E 8 опеD4F8о==KE пDоFеEEо6, 
Eо7д4=8е =о6KE пDоFедуD 8 Dе7л4<е=то6 D45отK 8 Eо6еDHе=Eт6о64=8е у6е EуIеEт6уNI8E, 
6=едDе=8е 6 о5D47о64телL=KE оD74=874F8OE 8 отD4Eл8 6 Fело< подEодо6 упD46ле=8O, 
оE=о64==о7о =4 8EполL7о64=88 д4==KE, 8EполL7о64=88 8=EтDу<е=то6 8 EеD68Eо6 MлектDо==о7о 
пD468телLEт64, 6=едDе=8е F8DDо6KE 8=EтDу<е=то6 EпеF84л878Dо64==о7о, уGе5=о7о 8 о5Iе7о 
=47=4Gе=8O. &4к4O F8DDо64O тD4=EDоD<4F8O дол6=4 Eоот6етEт6о64тL FелO< 8 74д4G4< 
DедеD4лL=о7о пDоект4 "&8DDо64O о5D47о64телL=4O EDед4" =4F8о=4лL=о7о пDоект4 
"О5D47о64=8е". 

ОE=о6=о9 FелLN пDо8EEодOI8E 8 пл4=8Dуе<KE Eе7од=O 87<е=е=89, E6O74==KE E F8DDо6о9 
тD4=EDоD<4F8е9 о5D47о64=8O O6лOетEO оEуIеEт6ле=8е пеDеEод4 к <4EEо6о<у к4GеEт6е==о<у 
о5D47о64=8N, =4пD46ле==о7о =4 6EеEтоDо==ее D4768т88 л8G=оEт8 уG4Iе7оEO. ДоEт86е=8N Mто9 
Fел8 EпоEо5Eт6ует DеHе=8е EледуNI8E 74д4G: 

- о5еEпеGе=8е F8DDо6о9 8=DD4EтDуктуDK Eо6Dе<е==о9 о5Iео5D47о64телL=о9 оD74=874F88, 
по76олONIе9 DеH4тL ее 74д4G8 F8DDо6о9 тD4=EDоD<4F88. !о7д4=8е 8=DD4EтDуктуD=KE уEло689 
(F8DDо6ое о5оDудо64=8е, Eет8 пеDед4G8 д4==KE 8 доEтуп 6 �=теD=ет, =4л8G8е 6 Hколе 
EпеF84л878Dо64==KE F8DDо6KE EDедEт6 уGе5=о7о =47=4Gе=8O, =4л8G8е пDо7D4<<=KE пDодукто6, 
=4л8G8е доEтуп4 к EеD68E4< у=86еDE4лL=о7о 8 уGе5=о7о =47=4Gе=8O) E6O74=о E 6KO6ле=8е< 8 
D4EпDоEтD4=е=8е< Dе7улLт4т86=KE о5D47о64телL=KE пD4кт8к (Law, Pelgrum, &Plomp, 2009) 8 
дол6=о 5KтL о5уEло6ле=о E4D4ктеDо< оD74=874F8о==KE, <етод8GеEк8E 8 пед47о78GеEк8E 74д4G, 
DеH4е<KE Hколо9 8 E8ту4т86=о9 =4 <еEт4E; 

- MDDект86=ое 8EполL7о64=8е Mле<е=то6 8 EоEт46лONI8E F8DDо6о9 8=DD4EтDуктуDK HколK 
длO улуGHе=8O о5D47о64телL=KE Dе7улLт4то6. Это =е875е6=о EопDO6е=о E 87<е=е=8O<8 6 
оD74=874F88 уGе5=о9 D45отK 8 8EполL7о64=8е< 6 E6оN оGеDедL MDDект86=K<8 <етод8GеEк8<8 
DеHе=8O<8, поддеD64==K<8 F8DDо6K<8 EDедEт64<8 о5уGе=8O; 

- DоD<8Dо64=8е F8DDо6о9 7D4<от=оEт8 у уG4Eт=8ко6 о5D47о64телL=о7о пDоFеEE4. 
$4ктоD4<8 7деEL 6KEтуп4ет =4л8G8е F8DDо6о9 EDедK, оD74=874F8о==Kе уEло68O, 6KEтD4864=8е 
E8Eте<K =епDеDK6=о7о по6KHе=8O к64л8D8к4F88 пед47о7о6; 

- о5еEпеGе=8е 785коEт8 упD46ле=8O о5D47о64телL=о9 оD74=874F8е9. Это о7=4G4ет, Gто =4 
уDо6=е Hкол дол6=о пDо8EEод8тL Eо6еDHе=Eт6о64=8е D45оG8E пDоFеEEо6, D47D45отк4 EтD4те788, 
Eо7д4=8е EтDуктуD, котоDKе по76олONт Hкол4< MDDект86=о Dе478Dо64тL 8 упD46лOтL 
87<е=е=8O<8 6 =еопDеделе==о9 8 д8=4<8G=о9 EDеде. Это 6о7<о6=о оEуIеEт6лOтL по д6у< 
=4пD46ле=8O<: (4) поEDедEт6о< 87<е=е=89 8 Eо=4EтDо9к8 у 6EеE Gле=о6 пед47о78GеEко7о 
коллект864 от=оE8телL=о Fеле9, 6ел4е<KE де9Eт689, DетDоEпект86=о9 оFе=к8 Eо5Kт89, 
пDедполо6е=8O, к4DтK пD8G8==о-EледEт6е==KE E6O7е9 8 EтD4те788 8 (5) GеDе7 опеD4F8о==Kе 
87<е=е=8O, т4к8е к4к 87<е=е=8O 6 Eт4=д4Dт=KE оD74=874F8о==KE D45оG8E пDоFедуD4E, пDоFеEE4E, 
Dе7л4<е=т4E. 
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- Eо6еDHе=Eт6о64=8е =оD<4т86=о9 547K F8DDо6о9 тD4=EDоD<4F88 о5D47о64=8O, 
6клNG4NIуN 6 Eе5O 6KO6ле=8е <4лоMDDект86=KE =оD<4т86о6, оEуIеEт6ле=8е коDDекF88 8 
D47D45отк8 =о6KE =оD<4т86о6. 

КлNGе6о9 оEо5е==оEтLN DоD<8Dо64=8O "74к474" =4 тD4=EDоD<4F8N о5Iе7о о5D47о64=8O 6 
 оEE88, ко<пете=F88 пеDEо=4л4 о5D47о64телL=KE оD74=874F89 8 оD74=о6 упD46ле=8O 

о5D47о64=8е< (6 оEо5е==оEт8, ко7д4 DеGL 8дет о5 упD46ле=88 о5D47о64телL=K<8 пDо7D4<<4<8) 
O6лOетEO оп8E4=8е тD4=EDоD<8Dуе<KE 8 =о6KE 68до6 о5D47о64телL=о9 деOтелL=оEт8, 8E пDоектK. 
�=K<8 Eло64<8, пDо5ле<4т8к4 F8DDо6874F88 о5D47о64=8O дол6=4 5KтL D4EE<отDе=4 6 5олее 
H8Dоко< ко=текEте - 6 ко=текEте пDоекто6 8EполL7о64=8O F8DDо6KE DеHе=89 6 D4<к4E 
тD4д8F8о==KE 8 =о6KE о5D47о64телL=KE пD4кт8к, оFе=к8 8E 6кл4д4 6 пDеодоле=8е тD4д8F8о==KE 
о5D47о64телL=KE пDо5ле< 8=дуEтD84лL=о9 п4D4д87<K ("пл4тDоD<K") о5D47о64=8O: 

- 6KEок4O долO =еуEпе64NI8E о5уG4NI8EEO; 
- тоD<о6е=8е D4768т8O т4л4=тл86KE о5уG4NI8EEO (о5уG4NI8EEO, де<о=EтD8DуNI8E 

6Kд4NI8еEO EпоEо5=оEт8); 
- отGу6де=8е (=е6о6леGе==оEтL) от о5D47о64=8O 8 отD8F4телL=K9 6кл4д 6 Mко=о<8ку 

7=4=89, D4кт8GеEкое "6оEпDо876одEт6о" Mко=о<8GеEко9 =еуEпеH=оEт8 лNде9; 
- =еMDDект86=4O ло78Eт8к4 оD74=874F88 о5D47о64=8O, о5еEпеG864NI8E пDоFеEEо6 (под6о7, 

п8т4=8е, 5е7оп4E=оEтL, 5уE74лтеD8O 8 т.п.); 
- 875KтоG=4O =47Dу7к4 =4 EоEт46ле=8е о5D47о64телL=о9 отGет=оEт8 8 отGет=оEт8 6 EDеDе 

о5D47о64=8O 8 DOд дDу78E; 
- DоD<8Dо64=8е =о6KE 6о7<о6=оEте9 8 =о6KE о5D47о64телL=KE пD4кт8к (пDе6де 6Eе7о, 

пD4кт8к уGе=8O 8 E4<оEтоOтелL=оEт8); 
- Dе4л874F8O пеDEо=4л87о64==KE пл4=о6 уGе=8O 8 8=д868ду4лL=KE уGе5=KE пл4=о6 

о5уG4NI8EEO 6 7468E8<оEт8 от 6о7D4Eт4 8 т8поло78GеEк8 OE=KE оEо5е==оEте9 8 6о7<о6=оEте9; 
- 7е9<8D8к4F8O уGе=8O GеDе7 6клNGе=8е F8DDо6KE 87Dо6KE DоD< 6 пDоFеEEK 

DоD<8Dо64=8O ко<пете=F89, о5уG4NI8EEO 8 8E <от864F88; 
- оD74=874F8O пDоект=о-оD8е=т8Dо64==о7о о5уGе=8O (=4 D47=KE уDо6=OE 8 6 D47=KE 68д4E 

о5D47о64=8O) 8 EодеD64телL=о-7е=ет8GеEко9 ло78к8 Eт4=о6ле=8O EпоEо5=оEте9 к 
пDоект8Dо64=8N, поддеD6к4 теDD8тоD84лL=о 8 DеEуDE=о-D4EпDеделе==KE уGе5=KE пDоекто6; 

- оD74=874F8O 8EEледо64телLEк8-оD8е=т8Dо64==о7о о5уGе=8O (=4 D47=KE уDо6=OE 8 6 D47=KE 
68д4E о5D47о64=8O) 8 EодеD64телL=о-7е=ет8GеEко9 ло78к8 Eт4=о6ле=8O EпоEо5=оEте9 к 
8EEледо64=8N, поддеD6к4 теDD8тоD84лL=о 8 DеEуDE=о-D4EпDеделе==KE уGе5=KE 8EEледо64=89; 

- Dе4л874F8O о5D47о64телL=KE пD4кт8к пDоDеEE8о=4лL=о9 оD8е=т4F88 8 DоD<8Dо64=8O 
пDоDеEE8о=4лL=о9 8де=т8G=оEт8 к4к =епDеDK6=KE, Eт4=о6OI8EEO 6 теGе=8е 687=8 (4 =е к4к 
"D47о6KE", пD86O74==KE к Eт4DHе9 Eтупе=8 HколK 8л8 6 E6O78 E 6KEодо< =4 DK=ок тDуд4); 

- Dе4л874F8O пDоFеEEо6 уGе=8O 8 о5уGе=8O =4 F8DDо6о9 (=е8=дуEтD84лL=о9) пл4тDоD<е, 6 
то< G8Eле, <оделе9 о=л49=- 8 E<еH4==о7о уGе=8O, 8 о5уGе=8O; 

- 6клNGе=8е 6 уGе5=K9 пDоFеEE E8<улOтоDо6 =46Kко6 оD8е=т8Dо6к8 (оD8е=т8Dо6оG=о9 
оE=о6K де9Eт68O, 547о6KE =46Kко6) 8 =46Kко6 пD8=Oт8O 8=д868ду4лL=KE DеHе=89 длO оп4E=KE 
пDоDеEE89 8 пDо7D4<< под7ото6к8 E 6KEоко9 Eто8<оEтLN "4=4ло7о6о7о" о5оDудо64=8O, длO 
Eо6еDHе=Eт6о64=8O пDоDеEE8о=4лL=KE =46Kко6; о5уGе=8O отделL=K< =46Kк4< - Gте=8O, 
7о6оDе=8O (6KEк47K64=89), EGет4 8 пD8кл4д=о7о кол8GеEт6е==о7о <KHле=8O 6 Fело<; 

- DоD<8Dо64=8е =о6KE 68до6 7D4<от=оEт8 - D8=4=Eо6о9, пD46о6о9, 8=DоD<4F8о==о9 8 т.п.; 
- DоD<8Dо64=8е "<O7к8E" =46Kко6 - ко<<у=8к4F88, коопеD4F88, кD8т8GеEко7о <KHле=8O, 

кDе4т86=оEт8, E4<ооD74=874F8O, у<е=8O уG8тLEO 8 DOд4 дDу78E. 
 

ОE=о6=Oе Qле<е=тO 6=едDе=8O 6 оE=о6=Oе о5Iео5D47о64телP=Oе 

пDо7D4<<O Eо6Dе<е==OE F8DDо6OE теE=оло789 

 

Оп8E4=8е деOтелL=оEт8 о5D47о64телL=о9 оD74=874F88 EтDо8тEO 6 д4==о< EлуG4е GеDе7 
оп8E4=8е доEтуп=оEт8 F8DDо6KE теE=оло789 8 8EполL7о64=8O F8DDо6KE теE=оло789, DеHе=89, 
8=EтDу<е=то6, EеD68Eо6, DеEуDEо6 8 8=DD4EтDуктуDK 6 уGе5=о< пDоFеEEе 8 6 пDоFеEEе упD46ле=8O 
Hколо9, 6 то< G8Eле, упD46ле=8е E4<о9 F8DDо6о9 тD4=EDоD<4F8е9. Это Eоот6етEт6ует 
7=4G8телL=о<у G8Eлу <оделе9, оп8EK64NI8E к4к о5I8е D4<к8 пDоFеEEо6 87<е=е=89, т4к 8 



F8DDо6уN тD4=EDоD<4F8N Hкол. 
�E упоDOдоG864=8е по Eтепе=8 пеD6ооGеDед=оEт8 6=едDе=8O F8DDо6KE теE=оло789 дол6=о 

оп8D4тLEO =4 =4F8о=4лL=о< пл4=е тD4=EDоD<4F88 HколK - =4 =4F8о=4лL=K9 пDоект 
"О5D47о64=8е", пDе6де 6Eе7о 6 G4Eт8 Dе4л874F88 <еDопD8Oт89 DедеD4лL=о7о пDоект4 "&8DDо64O 
о5D47о64телL=4O EDед4" (д4лее - &О!), 4 8<е==о =4 6=едDOе<уN Fеле6уN <оделL &О!, Eо7д4=8O 
8=DD4EтDуктуD=KE DеHе=89 6 о5л4Eт8 F8DDо6874F88, Eо7д4=8O F8DDо6KE 8=EтDу<е=то6, 
DеEуDEо6, EеD68Eо6 к4к Eо EтоDо=K DK=к4, т4к 8 Eо EтоDо=K 7оEуд4DEт64. 

�=едDOе<4O <оделL &О! Dе7ул8Dует от=оHе=8O уG4Eт=8ко6 &О!, E6O74==Kе E Eо7д4=8е< 8 
D4768т8е< уEло689 длO Dе4л874F88 о5D47о64телL=KE пDо7D4<< E пD8<е=е=8е< MлектDо==о7о 
о5уGе=8O, д8Eт4=F8о==KE о5D47о64телL=KE теE=оло789, E уGето< Dу=кF8о=8Dо64=8O MлектDо==о9 
8=DоD<4F8о==о-о5D47о64телL=о9 EDедK, 6клNG4NIе9 6 Eе5O MлектDо==Kе 8=DоD<4F8о==Kе 
DеEуDEK, MлектDо==Kе о5D47о64телL=Kе DеEуDEK, допуIе==Kе к 8EполL7о64=8N 6 Dе4л874F88 
оE=о6=KE о5D47о64телL=KE пDо7D4<< 6 Eоот6етEт688 E уEт4=о6ле==K< поDOдко<, Eо6окуп=оEтL 
8=DоD<4F8о==KE 8 телеко<<у=8к4F8о==KE теE=оло789, Eоот6етEт6уNI8E теE=8GеEк8E EDедEт6, 
о5еEпеG864NI8E оE6ое=8е о5уG4NI8<8EO о5D47о64телL=KE пDо7D4<< 6 пол=о< о5Jе<е 
=е7468E8<о от <еEт4 =4Eо6де=8O о5уG4NI8EEO. 

&О! о5еEпеG864етEO =ео5Eод8<о9 <4теD84лL=о-теE=8GеEко9 547о9 8 8=DоD<4F8о==о-

телеко<<у=8к4F8о==о9 8=DD4EтDуктуDо9 о5D47о64телL=KE оD74=874F89, 6клNG4O: 
- о5еEпеGе=8е 7оEуд4DEт6е==KE 8 <у=8F8п4лL=KE о5Iео5D47о64телL=KE оD74=874F89 8 

пDоDеEE8о=4лL=KE о5D47о64телL=KE оD74=874F89 (д4лее - о5D47о64телL=Kе оD74=874F88) 
6KEокоEкоDоEт=K< доEтупо< к 8=DоD<4F8о==о-телеко<<у=8к4F8о==о9 Eет8 "�=теD=ет" Eо 
EкоDоEтLN =е <е=ее 100 �5/E длO 7оDодEко9 <еEт=оEт8 8 =е <е=ее 50 �5/E длO EелLEко9 
<еEт=оEт8; 

- оE=4Iе=8е о5D47о64телL=KE оD74=874F89 ко<пLNтеD=K<, <улLт8<ед89=K<, 
пDе7е=т4F8о==K< о5оDудо64=8е< 8 пDо7D4<<=K< о5еEпеGе=8е< 6 Eоот6етEт688 Eо Eт4=д4Dто<, 
D47D45от4==K< �8=пDоE6еIе=8O  оEE88 Eо6<еEт=о E �8=ко<E6O7LN  оEE88; 

- Eо7д4=8е 8 (8л8) <одеD=874F8O EтDуктуD8Dо64==KE к45елL=KE E8Eте<, лок4лL=KE 
6KG8Eл8телL=KE Eете9, E8Eте< ко=тDолO 8 упD46ле=8O доEтупо<, 4 т4к6е 68део=45лNде=8O =4 
о5Jект4E о5D47о64телL=KE оD74=874F89, по76олONIе7о 6 поEтоO==о< Dе68<е оEуIеEт6лOтL 
<о=8тоD8=7 оD74=874F88 о5D47о64телL=о7о пDоFеEE4 6 о5D47о64телL=KE оD74=874F8OE; 

- оE=4Iе=8е 8=K< о5оDудо64=8е<, о5еEпеG864NI8< 5еEпеDе5о9=оEтL Dу=кF8о=8Dо64=8O, 
D47<еIе=8O о5оDудо64=8O 8=DоD<4F8о==о-телеко<<у=8к4F8о==о9 8=DD4EтDуктуDK 6 
о5D47о64телL=KE оD74=874F8OE. 

!тепе=L 8=те7D4F88 F8DDо6KE теE=оло789 6 деOтелL=оEтL о5D47о64телL=о9 оD74=874F88 
<о6ет 5KтL оп8E4=4 GеDе7: 

- уDо6=8, =4 котоDKE пDоEодOт пDоFеEEK F8DDо6о9 тD4=EDоD<4F88: уDо6е=L 
о5Iео5D47о64телL=о9 оD74=874F88, уDо6е=L <у=8F8п4л8тет4, уDо6е=L Dе78о=4, DедеD4лL=K9 
уDо6е=L. &о, к4к пDо8EEод8т F8DDо64O тD4=EDоD<4F8O =4 отделL=о< уDо6=е E8Eте<K 
о5D47о64=8O, 7468E8т 8 от D4ктоDо6, DоD<8Dуе<KE =4 5олее 6KEоко< уDо6=е (6=еH=8е D4ктоDK 
F8DDо6о9 тD4=EDоD<4F88); 

- Mле<е=тK пDоFеEEо6 F8DDо6о9 тD4=EDоD<4F88, пDоEодOI8E =4 D47=KE уDо6=OE. 
&4к8< о5D47о<, 6Kделе=о Eе<L Mле<е=то6 пDоFеEE4 F8DDо6о9 тD4=EDоD<4F88, 

оп8EK64NI8E деOтелL=оEтL HколK 6 поDOдке пеD6ооGеDед=оEт8 6=едDе=8O F8DDо6KE 
теE=оло789: 

1. ДоEтуп=оEтL F8DDо6о9 8=DD4EтDуктуDK. К Mто<у Mле<е=ту от=оE8тEO D878GеEк89 доEтуп к 
EоEт46лONI8< F8DDо6о9 о5D47о64телL=о9 EDедK =4 уDо6=е HколK у уG4Eт=8ко6 
о5D47о64телL=о7о пDоFеEE4; 

2. ДоEтуп=оEтL F8DDо6KE 8=EтDу<е=то6, EеD68Eо6, DеEуDEо6. К Mто<у Mле<е=ту от=оE8тEO 
доEтуп к F8DDо6K< 8=EтDу<е=т4<, EеD68E4< 8 DеEуDE4< уGе5=о7о 8 о5Iе7о =47=4Gе=8O; 

3. �EполL7о64=8е F8DDо6KE теE=оло789 длO DеHе=8O 74д4G упD46ле=8O. К Mто<у Mле<е=ту 
от=оE8тEO 4EпектK, к4E4NI8еEO 6=едDе=8O F8DDо6KE пл4тDоD< 8 DеHе=89 длO 74д4G упD46ле=8O 
Hколо9; 

4. �EполL7о64=8е F8DDо6KE теE=оло789 6 уGе5=о< пDоFеEEе. К Mто<у Mле<е=ту от=оE8тEO 
4EпектK, к4E4NI8еEO 8EполL7о64=8O F8DDо6KE DеHе=89 E тоGк8 7Dе=8O уG4Eт=8ко6 
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о5D47о64телL=о7о пDоFеEE4; 
5. �оддеD6к4 F8DDо6о9 ко<пете=т=оEт8 уG4I8EEO. !Nд4 от=оE8тEO о5уGе=8е уG4I8EEO 

Mт8кету, пD468л4< 5е7оп4E=о7о по6еде=8O 6 Eет8 �=теD=ет, Dе7улOD=оEтL 8EполL7о64=8O 
F8DDо6KE уEтDо9Eт6 8 EеD68Eо6; 

6. �DоDеEE8о=4лL=ое D4768т8е пед47о7о6 6 о5л4Eт8 F8DDо6KE теE=оло789. !Nд4 от=оE8тEO 
уG4Eт8е пед47о7о6 6 <еDопD8Oт8OE по по6KHе=8N к64л8D8к4F88, 6клNG4O о=л49=-DоD<4тK, 
6748<=ое поEеIе=8е 74=Oт89, уG4Eт8е 6 Eете6KE пDоDеEE8о=4лL=KE Eоо5IеEт64E, 8 т.д. 

7. 'пD46ле=8е F8DDо6о9 тD4=EDоD<4F8е9 о5D47о64телL=о9 оD74=874F88. � Mто< Mле<е=те 
D4EE<4тD864етEO то, к4к =4 уDо6=е HколK пDо8EEод8т упD46ле=8е F8DDо6о9 тD4=EDоD<4F8е9: 
D45отK по DоD<8Dо64=8N о5Iе7о 68де=8O =4 пDоFеEEK F8DDо6о9 тD4=EDоD<4F88 у уG4Eт=8ко6 
о5D47о64телL=о7о пDоFеEE4, =4л8G8е Dе7л4<е=то6 8EполL7о64=8O F8DDо6KE теE=оло789 =4 уDо6=е 
HколK. 

�D8 оFе=864=88 пDоFеEEо6 F8DDо6о9 тD4=EDоD<4F88 =4 5олее 6KEоко< уDо6=е, Gе< 
уDо6е=L о5Iео5D47о64телL=о9 оD74=874F88, EоEтоO=8е о5Jект4 оFе=864=8O (<у=8F8п4л8тет4, 
Dе78о=4, DедеD4F88) оFе=864етEO GеDе7 Eо6окуп=оEтL о5Iео5D47о64телL=KE оD74=874F89 8 GеDе7 
оFе=ку D4ктоDо6 F8DDо6о9 тD4=EDоD<4F88 =4 уDо6=е о5Jект4. 

�7<е=е=8O 6 од=о< 87 6KHепеDеG8Eле==KE Mле<е=т4E =4 уDо6=е HколK (=4пD8<еD, 
66еде=8е =о6о7о ко<по=е=т4 F8DDо6о9 8=DD4EтDуктуDK, допол=8телL=о 8EполL7о64=8е 
F8DDо6о7о о5оDудо64=8O, 87<е=е=8O пDоFеEEо6 упD46ле=8O Hколо9, 8 т.д.) =е <о7ут пDоEод8тL 
87ол8Dо64==о от дDу78E Mле<е=то6 <оделе9. � Mто< EлуG4е, 6о7<о6=о 7о6оD8тL о FелоEт=о9 
<одел8 8=те7D4F88 F8DDо6KE DеHе=89, Gто по76ол8ло 5K Dе4л87о6K64тL поте=F84л F8DDо6KE 
теE=оло789 =485олее пол=о. Д4==K9 6K6од 5Kл подт6еD6де= 6 Eоде о5Eу6де=89 E MкEпеDт4<8 6 
Eоде D47D45отк8 <одел8 8=те7D4F88 F8DDо6KE теE=оло789 6 деOтелL=оEтL HколK. 

К46д4O 87 Eе<8 <оделе9 Mле<е=то6 отD464ет D47=Kе 4EпектK Eло6=о7о пDоFеEE4 
8=те7D4F88 8 MDDект86=о7о 8EполL7о64=8O F8DDо6KE теE=оло789 6 Hколе о5уGе=8O теE=оло788. 
�Eе Mле<е=тK 6748<оE6O74=K 8 дол6=K D4EE<4тD864тLEO к4к G4Eт8 од=о7о 8 то7о 6е пDоFеEE4. 

�EполL7о64=8е F8DDо6KE EDедEт6 =4 пD4кт8ке пок47K64ет 8 6о7<о6=оEт8, 8 Dе4лL=Kе Fел8 
F8DDо6о9 тD4=EDоD<4F88 Hкол. !оот6етEт6е==о, клNGе6K< уEло68е< 8EполL7о64=8O O6лOетEO 
доEтуп=оEтL F8DDо6KE EDедEт6. Эт8 д6е D4<к8 (доEтуп=оEтL 8 8EполL7о64=8е) опDедел8л8 
пеDеGе=L 8 E4D4ктеD8Eт8ку о5л4Eте9 <о=8тоD8=74 F8DDо6о9 тD4=EDоD<4F88 Hкол. 

'поDOдоG864=8е 74д4G по Eтепе=8 пеD6ооGеDед=оEт8 6=едDе=8O F8DDо6KE теE=оло789 
дол6=о оп8D4тLEO =4 =4F8о=4лL=K9 пл4= тD4=EDоD<4F88 HколK - =4 =4F8о=4лL=K9 пDоект 
"О5D47о64=8е", пDе6де 6Eе7о 6 G4Eт8 Dе4л874F88 <еDопD8Oт89 DедеD4лL=о7о пDоект4 "&8DDо64O 
о5D47о64телL=4O EDед4", Eо7д4=8O 8=DD4EтDуктуD=KE DеHе=89 6 о5л4Eт8 F8DDо6874F88, Eо7д4=8O 
F8DDо6KE 8=EтDу<е=то6, DеEуDEо6, EеD68Eо6 к4к Eо EтоDо=K DK=к4, т4к 8 Eо EтоDо=K 7оEуд4DEт64. 
 

Оп8E4=8е деOтелP=оEт8 о5Iео5D47о64телP=OE оD74=874F89, 
тDе5уNI8E F8DDо6о9 тD4=EDоD<4F88 (E уGето< упоDOдоGе=8O 

по Eтепе=8 пеD6ооGеDед=оEт8 6=едDе=8O F8DDо6OE теE=оло789) 
 

�D8оD8т874F8O 74д4G по F8DDо6о9 тD4=EDоD<4F88 о5Iео5D47о64телL=о9 оD74=874F88 
=4пDO<уN 7468E8т от EоEтоO=8O F8DDо6о9 тD4=EDоD<4F88 HколK, от уDо6=O, =4 котоDо< DеH4етEO 
74д4G4 (уDо6е=L о5Iео5D47о64телL=о9 оD74=874F88, <у=8F8п4л8тет4, Dе78о=4, DедеD4F88), 
8<еNIе9EO ко<58=4F88 6=еH=8E D4ктоDо6 F8DDо6о9 тD4=EDоD<4F88, =4 котоDKе 
о5Iео5D47о64телL=4O оD74=874F8O =е <о6ет по6л8OтL, 8 6=утDе==8E, котоDKе =4EодOтEO 6 7о=е 
ее 6л8O=8O. 

Это о7=4G4ет, Gто о5о5I86 отеGеEт6е==K9 8 <е6ду=4Dод=K9 опKт по 
8=DоD<4т874F88/F8DDо6о9 тD4=EDоD<4F88 о5D47о64=8O, <о6=о 6Kдел8тL =еEколLко 
=4пD46ле=89 т4ко9 D45отK: 

1.  45отK по Eо6еDHе=Eт6о64=8N F8DDо6о9 8=DD4EтDуктуDK о5Iео5D47о64телL=о9 
оD74=874F88 6 G4Eт8 доEтуп=оEт8 F8DDо6о7о о5оDудо64=8O; 

2.  45отK по Eо6еDHе=Eт6о64=8N F8DDо6о9 8=DD4EтDуктуDK о5Iео5D47о64телL=о9 
оD74=874F88 6 G4Eт8 доEтуп=оEт8 F8DDо6KE EеD68Eо6 8 пDодукто6; 

3.  45отK по Eо6еDHе=Eт6о64=8N F8DDо6о9 8=DD4EтDуктуDK о5Iео5D47о64телL=о9 
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оD74=874F88 6 G4Eт8 ее 8EполL7о64=8O длO DеHе=8O 74д4G упD46ле=8O Hколо9; 
4.  45отK по Eо6еDHе=Eт6о64=8N F8DDо6о9 EDедK о5Iео5D47о64телL=о9 оD74=874F88 6 

G4Eт8 ее 8EполL7о64=8O 6 уGе5=о< пDоFеEEе; 
5.  45отK по DоD<8Dо64=8N F8DDо6о9 ко<пете=т=оEт8 о5уG4NI8EEO; 
6.  45отK по о5еEпеGе=8N пDоDеEE8о=4лL=о7о D4768т8O пед47о7о6 6 о5л4Eт8 F8DDо6KE 

теE=оло789; 
7.  45отK по упD46ле=8N F8DDо6о9 тD4=EDоD<4F8е9 о5D47о64телL=о9 оD74=874F88. 

 

Оп8E4=8е пеDEпект86=OE F8DDо6OE теE=оло789, 
Dеко<е=дуе<OE длO 8=те7D4F88 6 деOтелP=оEт8 

о5Iео5D47о64телP=OE оD74=874F89 

 

�4 д4==K9 <о<е=т 6 5олLH8=Eт6е DоEE89Eк8E о5D47о64телL=KE оD74=874F89 пDоFеEEK 
F8DDо6874F88 =оEOт =еE8Eте<=K9 E4D4ктеD. � то 6е 6Dе<O еEтL отделL=Kе пDеFеде=тK, 
E6O74==Kе E 87уGе=8е< 8 тD4=EлOF8е9 отеGеEт6е==о7о 8 <8Dо6о7о опKт4, 4 т4к6е пDо6одOтEO 
MкEпеD8<е=т4лL=Kе D45отK по 8EполL7о64=8N F8DDо6KE теE=оло789 6 D47л8G=KE пDоFеEE4E 
о5Iео5D47о64телL=о9 оD74=874F88. 

!тоOI8е пеDед отD4EлLN о5D47о64=8O 74д4G8 F8DDо6о9 тD4=EDоD<4F88 тDе5уNт 
DоD<8Dо64=8O =о6KE <оделе9 "F8DDо6KE" оD74=874F89 E =о6K<8 подEод4<8 к Dе4л874F88 6EеE 
68до6 деOтелL=оEт8, 547о6KE 8 6Eпо<о74телL=KE пDоFеEEо6, =о6K<8 пD8=F8п4<8 
6748<оде9Eт68O уG4Eт=8ко6 о5D47о64телL=о7о пDоFеEE4 8 =о6K<8 F8DDо6K<8 EеD68E4<8. 

� Mт8E уEло68OE кD49=е 646=K< 8 4кту4лL=K< O6лOетEO пDо6еде=8е 8EEледо64=89 
6о7<о6=оEте9 F8DDо6KE теE=оло789 6 о5D47о64=88, D47D45отк8 68де=8O уEло689 8E 
MDDект86=о7о 8EполL7о64=8O, уG8тK64O EкоDоEтL теE=оло78GеEк8E 87<е=е=89 6 Eо6Dе<е==о< 
<8Dе 8 =ео5Eод8<оEтL DоD<8Dо64=8O =о6KE ко<пете=F89 о5уG4NI8EEO. ОтделL=ое 6=8<4=8е 
дол6=о 5KтL уделе=о 6KO6ле=8N, DоD<8Dо64=8N 8 тD4=EлOF88 уEпеH=KE пD4кт8к F8DDо6о9 
тD4=EDоD<4F88 =4 D47=KE уDо6=OE. 

&8DDо64O тD4=EDоD<4F8O о5D47о64=8O O6лOетEO 5еEEпоD=о9 <8Dо6о9 те=де=F8е9 
<одеD=874F88 о5D47о64телL=KE E8Eте< 8 пеDеEод4 к пеDEо=4л878Dо64==K< DоD<4<, 6 отл8G8е 
от <4EEо6KE тD4д8F8о==KE 8=дуEтD84лL=KE DоD<. &8DDо6874F8O =е пDоEто 74<еI4ет Dут8==Kе 
8=дуEтD84лL=Kе опеD4F88 (=4пD8<еD, 6еде=8е 6уD=4ло6 8 д=е6=8ко6 6 Hколе, Eо7д4=8е 8 
74I8т4 уGе5=KE пDоекто6 8 п8EL<е==KE D45от), - 6еDоOт=ее 6Eе7о, о=4 Eт468т уG8телO ED47у 
од=о6Dе<е==о 6 по78F88 8 DетDоEпект86=о9, 8 пDоEпект86=о9 DеDлекE88 EодеD64=8O 8 
EтDуктуDK о5D47о64телL=о9 деOтелL=оEт8 к4к т4ко6о9. �=K<8 Eло64<8, уG8телL 6K=у6де= 
тD4=EDоD<8Dо64тL Eо5Eт6е==уN 8де=т8G=оEтL, поEтоO==о 74д464OEL 6опDоEо< о то<, к4к =4 E4<о< 
деле уEтDое=4 е7о деOтелL=оEтL, 8 Gто еIе Eло6=ее, к4к о=4 <о6ет 8 дол6=4 5KтL уEтDое=4 6 
F8DDо6о9 6ек, к4к о=4 <о6ет 8 дол6=4 8=коDпоD8Dо64тL F8DDо6Kе 8=EтDу<е=тK 
о5D47о64телL=о9 деOтелL=оEт8 6 пD4кт8ку 8 к4к Mто 6л8Oет =4 MDDект86=оEтL о5уGе=8O, е7о Fел8 8 
EодеD64=8е. 

�4 оE=о6е 4=4л874 доку<е=то6 ОD74=874F88 Mко=о<8GеEко7о EотDуд=8GеEт64 8 D4768т8O, 
�Eе<8D=о7о 54=к4 Dеко=EтDукF88 8 D4768т8O, ОткDKто7о '=86еDE8тет4 �ел8ко5D8т4=88 8 
�4F8о=4лL=о7о 8=Eт8тут4 о5D47о64=8O !8=74пуD4 8 т.д., 6KделONт =еEколLко клNGе6KE 
о5D47о64телL=KE тDе=до6, E4D4ктеD=KE к4к длO пеDедо6о7о DоEE89Eко7о, т4к 8 <е6ду=4Dод=о7о 
опKт4: 

1. пеDEо=4л874F8O, 785коEтL 8 4д4пт86=оEтL о5уGе=8O; 
2. 6о6леGе==оEтL 6 уGе5=K9 пDоFеEE; 
3. =епDеDK6=ое о5уGе=8е 8 о5D47о64=8е 6 теGе=8е 6Eе9 687=8; 
4. откDKтоEтL, доEтуп=оEтL 8 D46=Kе 6о7<о6=оEт8; 
5. 8EполL7о64=8е 8=DоD<4F8о==о-ко<<у=8к4F8о==KE теE=оло789: 
- длO оEуIеEт6ле=8O 5еEHо6=о7о о5уGе=8O; 
- длO о5уGе=8O 6 о5л4ке; 
- 8EполL7о64=8е EоF84лL=KE Eете9 6 о5уGе=88; 
- <о58лL=ое о5уGе=8е; 
- <4EEо6Kе откDKтKе о=л49=-куDEK; 



- E<еH4==ое о5уGе=8е; 
- пеDе6еD=утое о5уGе=8е; 
6. у=86еDE8тетK к4к 8=ку54тоDK 8де9; 
7. 8EполL7о64=8е DоD<8DуNIе9 4=4л8т8к8; 
8. Eо7д4=8е D476864NIе9 о5D47о64телL=о9 EDедK 8 8=те7D4F8O Eо558, о5уGе=8O 8 D45отK 6 

ед8=K9 пDоFеEE; 
9. Eо6<еEт=ое о5уGе=8е 8 о5уGе=8е 6 толпе; 
10. о5уGе=8е, поEтDое==ое =4 оH85к4E; 
11. 8EполL7о64=8е 8EкуEEт6е==о7о 8=теллект4 8 <4H8==о7о о5уGе=8O; 
12. д8749=-<KHле=8е; 
13. о5уGе=8е длO 5удуIе7о; 
14. теE=оло788 68Dту4лL=о9 8 допол=е==о9 Dе4лL=оEт8; 
15. 8=теD=ет 6еIе9. 
�D8<е=8телL=о к о5Iе<у о5D47о64=8N =485олее 6оEтDе5о64=K <о7ут 5KтL EледуNI8е 

теE=оло78GеEк8е о5л4Eт8: 
1. теE=оло78O D4EпDеделе==о7о DееEтD4 (5локGе9=); 
2. 8EкуEEт6е==K9 8=теллект; 
3. теE=оло78O 68Dту4лL=о9 Dе4лL=оEт8 (VR); 
4. теE=оло78O допол=е==о9 Dе4лL=оEт8 (AR); 
5. 8=теD=ет 6еIе9; 
6. теE=оло788 F8DDо6KE ко<<у=8к4F89; 
7. теE=оло78O 5олLH8E д4==KE; 
8. теE=оло78O DоD<8DуNIе9 4=4л8т8к8; 
9. откDKтKе о5D47о64телL=Kе DеEуDEK. 

 

&еE=оло78O D4EпDеделе==о7о DееEтD4 (5локGе9=) 
 

&еE=оло78O D4EпDеделе==о7о DееEтD4 (5локGе9=) - теE=оло78O, оD74=87уNI4O 547у д4==KE, 
котоD4O EоEто8т 87 FепоGк8 5локо6, оDоD<ле==KE по опDеделе==K< пD468л4<. К46д4O OGе9к4 
5лок4 =еEет 6 Eе5е 8=DоD<4F8N о пDедKдуIе9 OGе9ке. Эт4 теE=оло78O 5478DуетEO =4 пD8=F8пе 
деFе=тD4л874F88, то еEтL 5474 =4Eод8тEO =е 6 од=о< <еEте, 4 6о 6EеE ко<пLNтеD4E уG4Eт=8ко6 
E8Eте<K, котоDKе о5D47уNт EетL. 

ЭкEпеDтK пD87=4Nт теE=оло78N пDо7D4G=о9 8 =4де6=о9 по ED46=е=8N E у6е 8<еNI8<8EO 6 
о5D47о64телL=о9 EDеде 8=EтDу<е=т4<8 8 подEод4<8. �4п8E8 6 FепоGке 5локGе9=4 <о6=о 
пDо6еD8тL 5ук64лL=о д6у<O кл8к4<8. �одо5=K9 подEод пDеодоле64ет Eло686HуNEO 6 
о5D47о64телL=о9 EDеде 5NDокD4т8N 8 упDоI4ет 687=L к4к уGе5=K< оD74=874F8O<, т4к 8 
уG4I8<EO. 

� к4GеEт6е пD8<еD4 8EполL7о64=8O теE=оло788 D4EпDеделе==о7о DееEтD4 6 о5Iе< 
о5D47о64=88 <о6=о пD86еEт8 MлектDо==ое поDтDол8о: 

ЭлектDо==ое поDтDол8о - Mто о5л4G=K9 EеD68E, котоDK9 по76олOет т4л4=тл86K< 8 
<от868Dо64==K< HколL=8к4< Eо58D4тL 8 ED4=8тL E6о8 =47D4дK 8 доEт86е=8O 8 дел8тLEO E6о8<8 
уEпеE4<8. ШколL=8к8, котоDKе уG4Eт6уNт 6 D47л8G=KE ол8<п84д4E, ко=DеDе=F8OE 8 ко=куDE4E - 
поте=F84лL=4O 4уд8тоD8O EеD68E4. ' HколL=8ко6 5удет 6о7<о6=оEтL Eо7д4тL E6ое поDтDол8о, 
подт6еD6д4тL 8 ED4=8тL 6Eе доEт86е=8O - д8пло<K 8 EеDт8D8к4тK о по5ед4E 8 уG4Eт88 6 
ол8<п84д4E, ко=куDE4E 8 EоDе6=о64=8OE - 6 ед8=о< удо5=о< EеD68Eе. '=86еDE8тетK E<о7ут 
полуG8тL доEтуп к поDтDол8о HколL=8к4 8 отEле6864тL 8=д868ду4лL=уN тD4ектоD8N уEпеE4 
5удуIе7о 458туD8е=т4, 8=DоD<8Dо64тL 4уд8тоD8N о <еDопD8Oт8OE. ! по<оILN EеD68E4 
46то<4т8GеEк8 опо6еI4тL о5 ол8<п84д4E 8 ко=куDE4E 5олLHое G8Eло поте=F84лL=KE уG4Eт=8ко6. 
�локGе9= теE=оло788 о5еEпеG4т 74I8ту 8=DоD<4F88, 6еD8D8к4F8N д4==KE, подт6еD6де=8е 
д8пло<о6 8 уG4Eт8е 6 <еDопD8Oт8OE, оD74=87о64==KE 6 E8Eте<е "ЭлектDо==ое поDтDол8о". 

&еE=оло78GеEк8е DеHе=8O D4EпDеделе==о7о DееEтD4, 6 то< G8Eле 6 D4<к4E ко=FепF88 
"5локGе9=" (6 EоGет4=88 E дDу78<8 теE=оло78GеEк8<8 DеHе=8O<8), о5л4д4NI8е поте=F84ло< 6 
о5D47о64=88, 6 пеDEпект86е <о7ут 5KтL EDокуE8Dо64=K 6окDу7 EледуNI8E пD8кл4д=KE 74д4G 
(кл4EEо6 пDодукто6) 6 о5D47о64=88, EпоEо5=KE Eо7д4тL E8Eте<=Kе DеHе=8O 8 теE=оло78GеEк8е 



тDе=дK 87<е=е=89 6 о5D47о64телL=KE пD4кт8к4E: 
1. %D4=е=8е HколL=KE 4ттеEт4то6, пDоG8E о5Iео5D47о64телL=KE доку<е=то6 6 547е д4==KE. 

%D4=е=8е д4==KE 6 од=о9 E8Eте<е по76олOет D4EпDоEтD4=OтL 8E <е6ду ко<п4=8O<8, Eо7д464O 
E8Eте<у д8=4<8G=о7о по8Eк4 к4дDо6 по =45оDу у<е=89 EпеF84л8Eт4 длO ко=кDет=KE 
пDедпD8Oт89. 

2. !о7д4=8е "д8=4<8GеEк8E 5локо6 куDEо6". О5D47о64телL=Kе оD74=874F88, подEтD4864OEL 
под =о6Kе тDе5о64=8O DK=к4 тDуд4, 5удут пDедл474тL "д8=4<8GеEк8е 5лок8 куDEо6", 7де уGе=8к 
<о6ет 6K5D4тL толLко то, Gто е<у 8=теDеE=о длO д4лL=е9Hе7о пDоDеEE8о=4лL=о7о D4768т8O. 

3. О5л4G=Kе 547K 7=4=89 (6 т.G. 5локGе9=) 6 о5D47о64=88 <о7ут 5KтL 8EполL7о64=K к4к: 
- о5D47о64телL=Kе DеEуDEK, =485олее пол=о оп8EK64NI8е пDед<ет=уN о5л4EтL; 
- 8=EтDу<е=тK Eо6<еEт=о9 D45отK уG4I8EEO (E4<оEтоOтелL=о7о DоD<8Dо64=8O лок4лL=о9 

547K 7=4=89 по отделL=о9 д8EF8пл8=е 8л8 пDед<ет=о9 о5л4Eт8); 
- 8=EтDу<е=тK уGет4 8 упD46ле=8O уGе5=K<8 8 =4уG=K<8 доEт86е=8O<8 уG4Eт=8ко6, 

8EполL7уе<Kе длO D47л8G=KE упD46ле=GеEк8E 8 о5еEпеG864NI8E пDоFеEEо6, 4 т4к6е пD8 
DеHе=88 74д4G DоD<8Dо64=8O <е6д8EF8пл8=4D=KE коллект86о6. 

4. &8DDо6Kе EеDт8D8к4тK по6KHе=8O к64л8D8к4F88. &еE=оло78O 5локGе9= 6 пеDEпект86е 
5удет 8EполL7о64тLEO длO пDедоEт46ле=8O EеDт8D8к4то6 уG8телO< 74 по6KHе=8е к64л8D8к4F88. 
 

�EкуEEт6е==O9 8=теллект 
 

�EкуEEт6е==K9 8=теллект - =4ук4 8 теE=оло78O Eо7д4=8O 8=теллекту4лL=KE <4H8=, оEо5е==о 
8=теллекту4лL=KE ко<пLNтеD=KE пDо7D4<<; E6о9Eт6о 8=теллекту4лL=KE E8Eте< 6Kпол=OтL 
т6оDGеEк8е Dу=кF88, котоDKе тD4д8F8о==о EG8т4NтEO пDеDо74т86о9 Gело6ек4. &еE=оло78O 
8EкуEEт6е==о7о 8=теллект4 пDедпол474ет у<=уN пеDEо=4л874F8N о5уGе=8O 6 3 EDеD4E: "у<=4O 
пед47о78GеEк4O <оделL" (MDDект86=Kе <одел8 пDепод464=8O), "у<=4O EDед4 о5уGе=8O" 
(687у4л874F8O 8 8=теD4кт86874F8O пDед<ет4 о5уGе=8O), "<оделL уGе=8к4" (74=8<4ет клNGе6уN 
DолL 6 о5D47о64телL=о9 EDеде). 

"'<=4O пед47о78GеEк4O <оделL" оE=о64=4 =4 3 ко<по=е=т4E: productive failure (EпоEо5Eт6ует 
DоD<8Dо64=8N кулLтуDK уGе=8к4 =е 5оOтLEO оH85ок 8 пDодол64тL уG8тLEO); feedback (подEк47к8, 
8=теD4кт86=Kе wikihow по<о74Nт уGе=8ку D47о5D4тLEO E =о6K<8 7=4=8O<8, 8=теD4кт86=Kе 
haptics); 74д4=8O длO пDо6еDк8 8 <о=8тоD8=74 о5уGе=8O. "'<=4O EDед4 о5уGе=8O" EоEто8т 87 
Mле<е=то6, EпоEо5Eт6уNI8E DоD<8Dо64=8N =46Kко6 кD8т8GеEко7о <KHле=8O, 4=4л874, 
E8Eте<4т874F88 8 пD8<е=е=8O D47л8G=KE подEодо6 к DеHе=8N пDо5ле< - <ет4ко<пете=F89 (4к). 
"�оделL уGе=8к" 6клNG4ет 3 ко<по=е=т4: пDедKдуI8е доEт86е=8O 8 Eло6=оEт8 уGе=8к4, 
M<оF8о=4лL=ое EоEтоO=8е уGе=8к4 8 6о6леGе==оEтL уGе=8к4 6 о5уGе=8е. 

&еE=оло78GеEк8е DеHе=8O 8EкуEEт6е==о7о 8=теллект4 (6 EоGет4=88 E дDу78<8 
теE=оло78GеEк8<8 DеHе=8O<8), о5л4д4NI8е поте=F84ло< 6 о5D47о64=88, <о7ут 5KтL 
EDокуE8Dо64=K 6окDу7 EледуNI8E пD8кл4д=KE 74д4G (кл4EEо6 пDодукто6) 6 о5D47о64=88: 

1. !8<улOF8O по6еде=8O уG8телO, 6 пеDEпект86е - 8EполL7о64=8е теE=оло788 длO Eо7д4=8O 
"о5уG4NI8E ко<п4=Lо=о6", котоDKе 5удут уG8тL Gело6ек4 =4 пDотO6е=88 6Eе9 е7о 687=8, 
опDеделOтL 87<е=е=8O 6 у6еDе==оEт8 8 <от864F88 уG4Iе7оEO 8 6 EлуG4е =4до5=оEт8 по<о74тL 
е<у. 

2. �8о<етD8O. &еE=оло78O 8EкуEEт6е==о7о 8=теллект4 <о6ет 5KтL 8EполL7о64=4 длO 
DеHе=8O 6опDоEо6 8де=т8D8к4F88 8 4уте=т8D8к4F88 6 F8DDо6KE E8Eте<4E уGе=8O 8 о5уGе=8O, 
E5оD4 =еEтDуктуD8Dо64==KE д4==KE длO поEледуNIе9 о5D45отк8 8 8=теDпDет4F88 6 по<оI8 
уGе=8N, к4к уGе5=Kе пDодуктK длO 8де=т8D8к4F88 686KE о5Jекто6, =4пD8<еD, 6 58оло788, к4к 
уGе5=Kе пDодуктK 6 D4<к4E л45оD4тоD=KE D45от HколL=8ко6 8 т.п. 

3. О5D45отк4 еEтеEт6е==о7о O7Kк4. &еE=оло78O 8EкуEEт6е==о7о 8=теллект4 <о6ет 5KтL 
8EполL7о64=4 длO: 

- =4копле=8O д4==KE 8 4=4л874 EтDуктуD еEтеEт6е==KE O7Kко6, "от6еG4NI8E" 74 
8де=т8D8к4F8N 8 пDо876одEт6о о5D47о64телL=KE E<KEло6, 6KD478телL=оEт8 8 о5D47о64телL=о9 
ко<<у=8к4F88; 

- 6KD478телL=оEт8 6 Fело<, пDо876одEт64 "F8DDо6KE д6о9=8ко6" де9Eт689 уG4Iе7оEO 6 
уGе5=KE FелOE Eо7д4=8O п8EL<е==KE текEто6/8=теD4кF89 6 ко=текEте о5уGе=8O, Fело7о DOд4 



дDу78E. 
4.  еGе6Kе теE=оло788. &еE=оло78O 8EкуEEт6е==о7о 8=теллект4 <о6ет 8EполL7о64тLEO длO: 
- 4л7оD8т<874F88 пDоEтKE ко<<у=8к4F89 6 EеD68E=KE 6 от=оHе=88 к о5D47о64телL=о<у 

пDоFеEEу E8Eте<4E (подEк47к8 8 =46874F8O по уGе5=о<у <4теD84лу 8 пDо7D4<<4<); 
- 7олоEо6о7о упD46ле=8O уGе5=K<8 уEтDо9Eт64<8 8 <4теD84л4<8, пеDе6од4 DеG8 87 

п8EL<е==о9 6 уEт=уN 8 о5D4т=о, 4=4л874 EодеD64=8O уEт=KE 8 п8EL<е==KE текEто6, DOд дDу78E. 
5.  еко<е=д4телL=Kе E8Eте<K. &еE=оло78O 8EкуEEт6е==о7о 8=теллект4 <о6ет 

8EполL7о64тLEO длO 6KO6ле=8O EкDKтKE 74ко=о<еD=оEте9 уGе=8O, Eо6еDHе=Eт6о64=8O 
о5D47о64телL=KE пDо7D4<<, оD8е=т8Dо64==KE =4 пеDEо=4л874F8N 8 8=д868ду4л874F8N 
(4д4пт8DуNI8еEO уGе5=Kе <4теD84лK 8 пDо7D4<<K), под5оD4 6л8ONI8E ко<по=е=т 
MDDект86=оEт8 уGе=8O (=4пD8<еD, под5оD4 по пD8=F8пу Eоот6етEт68O те<по-D8т<4лL=KE 
E4D4ктеD8Eт8к уG8телO 8 уGе=8к4, Eоот6етEт68O о5л4Eте9 8E 8=теDеE4 8 т.п.), ло78Eт8к8 
пеDEо=4л878Dо64==о7о уGе5=о7о D4Eп8E4=8O (уGе5=о7о пл4=4), DOд4 дDу78E. 

6. Ко<пLNтеD=ое 7Dе=8е. &еE=оло78O 8EкуEEт6е==о7о 8=теллект4 <о6ет 5KтL 8EполL7о64=4 
длO пDо6еде=8O пD4кт8GеEк8E D45от 6 D4<к4E о5D47о64телL=KE пDо7D4<< к4к "л45оD4тоD=ое 
о5оDудо64=8е", пок47K64NIее =е68д8<Kе 7л47у O6ле=8O, DеHе=8O ло78Eт8GеEк8E 74д4G 
о5Eлу6864NI8E E8Eте< (пDоEод, п8т4=8е, 5е7оп4E=оEтL 8 т.п.), оFе=864=8O/пDо6еDк8 уGе5=KE, 6 
то< G8Eле до<4H=8E 8 E4<оEтоOтелL=KE D45от, 8де=т8D8к4F88 Eтепе=8 оD878=4лL=оEт8 уGе5=KE 
D45от, пDо6еDк8 пD468лL=оEт8 6оEпD8Oт8O 87о5D46е=89, DOд4 дDу78E. 
 

&еE=оло78O 68Dту4лP=о9 8 допол=е==о9 Dе4лP=оEт8 

 

&еE=оло78O 68Dту4лL=о9 8 допол=е==о9 Dе4лL=оEт8 - теE=оло78O, EпоEо5=4O EуIеEт6е==о 
о5о74т8тL о5D47о64телL=K9 пDоFеEE, 687у4л878DуO 8 доEтD4864O =ео5Eод8<Kе Mле<е=тK, 
6KEтуп4O 6 к4GеEт6е ко=EтDуктоD4 8 <4теD84л4 длO т6оDGеEт64, пDоO6ле=8O кDе4т86=оEт8, 4 т4к6е 
7=4=89 D878GеEк8E 8 E8<8GеEк8E пDоFеEEо6. �одо5=Kе теE=оло788 по76олONт Eдел4тL уGе5=K9 
пDоFеEE =47лOд=K<, 8=теD4кт86=K<, 8=теDеE=K<, 5л47од4DO Gе<у по6KH4етEO <от864F8O 
уG4I8EEO 8 6о6леGе==оEтL, те< E4<K< ок47K64O поло68телL=ое 6л8O=8е =4 4к4де<8GеEк8е 
Dе7улLт4тK. 

AR (augmentedreality) - допол=е==4O Dе4лL=оEтL - Mто теE=оло78O 6=еEе=8O 6 поле 
Gело6еGеEко7о 6оEпD8Oт8O 68Dту4лL=о9 8=DоD<4F88, котоD4O 6оEпD8=8<4етEO Gело6еко< к4к 
G4EтL окDу64NIе7о <8D4. 

VR (virtualreality) - 68Dту4лL=4O Dе4лL=оEтL - тDеE<еD=4O EDед4, Eо7д4==4O E по<оILN 
ко<пLNтеD4, котоD4O 6оEEо7д4ет D878GеEкое пD8EутEт68е 6 тоGк4E 68Dту4лL=о7о <8D4 8 E котоDо9 
полL7о64телL <о6ет 6748<оде9Eт6о64тL. 

&еE=оло78GеEк8е DеHе=8O 68Dту4лL=о9 8 допол=е==о9 Dе4лL=оEт8 (6 EоGет4=88 E дDу78<8 
теE=оло78GеEк8<8 DеHе=8O<8), о5л4д4NI8е поте=F84ло< 6 о5D47о64=88, <о7ут 5KтL 
EDокуE8Dо64=K 6окDу7 EледуNI8E пD8кл4д=KE 74д4G (кл4EEо6 пDодукто6) 6 о5D47о64=88: 

1. �EполL7о64=8е 68Dту4лL=KE <8Dо6, 87=4G4лL=о 87Dо6KE, к4к пл4тDоD< длO о5уGе=8O, 
E8<улOF89 <4ло6еDоOт=KE 8л8 оп4E=KE Eо5Kт89, EоF84лL=KE 6748<оде9Eт689, пDо6еде=8O 
8EEледо64=89, 8л8 длO 8EполL7о64=8O 6 D4<к4E 68Dту4лL=о7о кл4EE4 8л8 к4<пуE4. 

2. !о7д4=8е =о6KE о5D47о64телL=KE пDоEтD4=Eт6, т4к8е к4к 68Dту4лL=Kе <у7е8, пл4=ет4D88, 
74лK длO лекF89, л45оD4тоD88 8 пD4кт8ку<K 5е7 EуIеEт6е==KE 74тD4т =4 опKт=ое о5оDудо64=8е. 

3. К4к EоEт46лONI4O пDоект=о-оD8е=т8Dо64==о7о о5уGе=8O =4 D47=KE уDо6=OE E8Eте<K 
о5D47о64=8O. 

4. К4к G4EтL Dе4л874F88 о5D47о64телL=KE пD4кт8к пDоDеEE8о=4лL=о9 оD8е=т4F88 у 
Eт4DHекл4EE=8ко6. 
 

�=теD=ет 6еIе9 

 

�=теD=ет 6еIе9 - ко=FепF8O 6KG8Eл8телL=о9 Eет8 D878GеEк8E пDед<ето6, оE=4Iе==KE 
6EтDое==K<8 теE=оло78O<8 длO 6748<оде9Eт68O дDу7 E дDу7о< 8л8 E 6=еH=е9 EDедо9, 
D4EE<4тD864NI4O оD74=874F8N т4к8E Eете9 к4к O6ле=8е, EпоEо5=ое пеDеEтDо8тL Mко=о<8GеEк8е 8 
о5IеEт6е==Kе пDоFеEEK, 8EклNG4NIее 87 G4Eт8 де9Eт689 8 опеD4F89 =ео5Eод8<оEтL уG4Eт8O 



Gело6ек4. ДлO EDеDK о5D47о64=8O Mто о7=4G4ет пеDеE<отD Dол8 уG8телO. Од=4ко 6е под46лONIее 
5олLH8=Eт6о D47D45оток 6 Mто9 те<е =4 Eе7од=OH=89 де=L =оE8т 8EклNG8телL=о теоDет8GеEк89 
E4D4ктеD, оE=о64=8O длO д8EкуEE88 =е 5еEплод=K. 

�4 д4==K9 <о<е=т EуIеEт6уNт EледуNI8е пDоектK, котоDKе 8EполL7уNт 6 о5Iе< 
о5D47о64=88 8=теD=ет 6еIе9: 

1. !8=EDо=874F8O STEM-ко=EтDуктоDо6 длO HколK E 8=теD=ет-EеD68E4<8, т4к8<8 к4к 
68Dту4лL=4O л45оD4тоD8O, коE<8GеEк89 Fе=тD 8 дD. 

2. �D8<е=е=8е AR/VR теE=оло789 длO пDо6еде=8O л45оD4тоD=KE 8EEледо64=89 6 EDеде 
68Dту4лL=о9 л45оD4тоD88. �4 д4==K9 <о<е=т теE=оло78O 8EполL7уетEO 6 пDоDеEE8о=4лL=о< 
о5D47о64=88, од=4ко у =ее еEтL 5олLHо9 поте=F84л 8EполL7о64=8O 6 о5Iе< о5D47о64=88. 

&еE=оло78GеEк8е DеHе=8O 8=теD=ет4 6еIе9 (6 EоGет4=88 E дDу78<8 теE=оло78GеEк8<8 
DеHе=8O<8), о5л4д4NI8е поте=F84ло< 6 о5D47о64=88, <о7ут 5KтL EDокуE8Dо64=K 6окDу7 
EледуNI8E пD8кл4д=KE 74д4G (кл4EEо6 пDодукто6) 6 о5D47о64=88: 

1.  еHе=8O длO E5оD4 д4==KE о пDоFеEEе о5уGе=8O E FелLN д4лL=е9Hе7о 6KEтD4864=8O 
4=4л8т8к8 о5уGе=8O 

2.  еHе=8O длO <е6пDед<ет=о7о оE6ое=8O те< пDед<ет=о9 о5л4Eт8 "&еE=оло78O", 
6клNG4NIее 87уGе=8е Dо5ототеE=8к8, пDо7D4<<8Dо64=8O, те< 87 д8EF8пл8= 
еEтеEт6е==о=4уG=о7о F8кл4. 

3. ОD74=874F8O 8EEледо64телLEк8-оD8е=т8Dо64==о7о о5уGе=8O (=4 D47=KE уDо6=OE 8 6 
D47=KE 68д4E о5D47о64=8O). 

4. $оD<8Dо64=8е 8 поддеD6к4 пD4кт8к E4<оEтоOтелL=о7о уGе=8O. 
 

&еE=оло78O 5олPH8E д4==OE (BigData) 
 

&еE=оло78O 5олLH8E д4==KE (BigData) - Eо6окуп=оEтL теE=оло789 о5D45отк8 8=DоD<4F88 
длO полуGе=8O 8=DоD<4F88, E4D4ктеD8Eт8к 8л8 6K7о6о6, котоDKе отл8G4Nт 5олLH8е д4==Kе от 
пDоEтKE д4==KE по о5Iе<у Eо7л4Hе=8N тD8: volume - о5Jе<, velocity - EкоDоEтL E5оD4, variety - 
D47=оо5D478е д4==KE. 

� Fело<, =ео5Eод8<о ко=Eт4т8Dо64тL, Gто длO <4EEо6о7о 6=едDе=8O 6 о5D47о64=88 
теE=оло789 5олLH8E д4==KE кD8т8GеEк8 =ео5Eод8< DоEт Eоот6етEт6уNI8E ко<пете=F89 
пеDEо=4л4 о5D47о64телL=KE оD74=874F89, лNде9, котоDKе 74=OтK D47D45отк4<8 8 
8EEледо64=8O<8 6 Mто9 о5л4Eт8, пD4кт8ко9 пD8<е=е=8O. !8ту4F8O D47D45отк8 8 пD8<е=е=8O 
теE=оло789 5олLH8E д4==KE EтDо8тEO GеDе7 Eо7д4=8е <4EEо6KE EеD68Eо6 8 пDоекто6 D45отK E 
=8<8 Fело7о DOд4 ко<п4=89. 

&еE=оло78GеEк8е DеHе=8O 5олLH8E д4==KE (6 EоGет4=88 E дDу78<8 теE=оло78GеEк8<8 
DеHе=8O<8), о5л4д4NI8е поте=F84ло< 6 о5D47о64=88, <о7ут 5KтL EDокуE8Dо64=K 6окDу7 
EледуNI8E пD8кл4д=KE 74д4G (кл4EEо6 пDодукто6) 6 о5D47о64=88: 

1. ОпDеделе=8е т8по6 по6еде=8O уGе=8ко6 (оEо5е==оEте9 6оEпD8Oт8O 8 оE6ое=8O 
<4теD84л4) - Mто =485олее 6оEтDе5о64==ое пD8<е=е=8е длO DеHе=8O 74д4G 4д4пт4F88 уGе5=KE 
<4теD84ло6 8 пDо7D4<<, Eо5Eт6е==о пеDEо=4л874F88 о5уGе=8O. ! по<оILN д4==о9 теE=оло788 
<о6=о EоEт468тL дет4лL=K9 поDтDет HколL=8к4 8 DоD<8Dо64тL д4т4-Fе=тD, котоDK9 по76олOет 
д464тL Dе5е=ку 64D84т86=K9 ко=те=т. !8Eте<4 E4<4 DеH4ет, к4куN 74д4Gу пDедло68тL, 8 
D4Eпо7=4ет, ко7д4 уGе=8к от6лекEO 8л8 уEт4л. 

2. �о6=о пD8=OтL кл4EE8D8к4F8N д4==KE (5олLH8E д4==KE) длO о5D47о64=8O: 
пеDEо=4лL=Kе д4==Kе; д4==Kе о 6748<оде9Eт688 Eтуде=то6 E MлектDо==K<8 E8Eте<4<8 о5уGе=8O 
(MлектDо==K<8 уGе5=8к4<8, о=л49=-куDE4<8); д4==Kе о5 MDDект86=оEт8 уGе5=KE <4теD84ло6; 
4д<8=8EтD4т86=Kе (о5IеE8Eте<=Kе) д4==Kе; пDо7=о7=Kе д4==Kе. Эт8 д4==Kе 8EполL7уNтEO 6 
!Ш� длO пеDEо=4л874F88 о5уGе=8O, пDо7=о7=о7о <одел8Dо64=8O, по6KHе=8O к4GеEт64 
пDепод464=8O, 6K5оD4 5удуIе9 пDоDеEE88, 68Dту4лL=KE к4<пуEо6. 
 

&еE=оло78O DоD<8DуNIе9 4=4л8т8к8 

 

$оD<8DуNI4O 4=4л8т8к4 пKт4етEO от6ет8тL =4 6опDоEK: о Gе< у7=4л8 уG4I8еEO 6 пDоFеEEе 
о5уGе=8O, к4к8е EоEт46лONI8е куDE4 <о6=о улуGH8тL, к4к8е Fел8 5удут доEт87=утK уG4I8<8EO 8 



к4к Mто Eоот=оE8тEO E 7D4D8ко<, к4к8< о5D47о< поEтDо8тL 8=д868ду4лL=K9 уGе5=K9 пл4=. 
$оD<8DуNI4O 4=4л8т8к4 пDедоEт46лOет 4=4л8т8ку ДЛ/ о5уGе=8O, 4 =е 4=4л8т8ку О� о5уGе=88, 
т4к4O 4=4л8т8к4 д4ет поте=F84л длO D4EH8Dе=8O 6о7<о6=оEте9 к46до7о уG4Iе7оEO 74 EGет 
E6ое6Dе<е==о9, пеDEо=4л878Dо64==о9 8 46то<4т878Dо64==о9 о5D4т=о9 E6O78, 4 т4к6е пDедл474ет 
6о7<о6=Kе пут8 D4768т8O 8 о5уGе=8O к46до7о уGе=8к4 6 отделL=оEт8. �=4л87 д4==KE EоF84лL=KE 
Eете9, <4теD84ло6 уGе5=KE DоDу<о6, Dе7улLт4то6 пDоект=о9 деOтелL=оEт8, <4теD84ло6 E8Eте< 
упD46ле=8O о5уGе=8е< (4=7л. learningmanagementsystem, LMS) 8 дDу78E F8DDо6KE уGе5=KE 
8=EтDу<е=то6, д4ет 6о7<о6=оEтL ок474=8O E6ое6Dе<е==о9 поддеD6к8 Eтуде=т4< - к4=д8д4т4< =4 
отG8Eле=8е, 8л8 те< уG4I8<EO, котоDKе E 5олLHо9 6еDоOт=оEтLN =е 74ко=G4т пDо7D4<<у по 
пDед<ету уEпеH=о. Эт8 д4==Kе т4к6е по<о74Nт D47D454тK64тL 5олее доEтуп=Kе куDEK, улуGH4тL 
поEеI4е<оEтL 8 у6ел8G864тL 6еDоOт=оEтL уEпеH=о7о око=G4=8O о=л49= 8 оDDл49= куDEо6. 

&еE=оло78GеEк8е DеHе=8O DоD<8DуNIе9 4=4л8т8к8 (6 EоGет4=88 E дDу78<8 
теE=оло78GеEк8<8 DеHе=8O<8), о5л4д4NI8е поте=F84ло< 6 о5D47о64=88, <о7ут 5KтL 
8EполL7о64=K длO уEпе64е<оEт8 отEт4NI8E уG4I8EEO 74 EGет пDедоEт46ле=8O 8< о5D4т=о9 E6O78 8 
74 EGет DоD<8Dо64=8O <етод8GеEк8E Dеко<е=д4F89 длO уG8теле9. 
 

ОткDOтOе о5D47о64телP=Oе DеEуDEO 

 

�46=K< тDе=до< Eе7од=O O6лOетEO 8=DоD<4F8о==4O откDKтоEтL о5D47о64=8O, Eо7д4=8е 8 
D4768т8е EеD68Eо6, 4кку<ул8DуNI8E 8 пDедоEт46лONI8E о5Jект86=Kе 8 4кту4лL=Kе д4==Kе, 
оE=о64==Kе =4 к4GеEт6е==KE <о=8тоD8=74E, оFе=к4E 8 Dе9т8=74E. �деEL кD49=е 646=о9 O6лOетEO 
=е7468E8<4O оFе=к4 к4GеEт64 D45отK о5D47о64телL=KE оD74=874F89, уG4Eт8е 6=еH=8E 
=45лNд4теле9. 

ДоEтуп=оEтL к4GеEт6е==о7о о5D47о64=8O Eе7од=O - Mто 8 8EполL7о64=8е теE=оло789. 
�4пD8<еD, <4EEо6Kе откDKтKе о=л49=-куDEK доEтуп=K 5еEпл4т=о =ео7D4=8Gе==о<у G8Eлу лNде9, 
6 лN5о< <еEте 8 6 лN5ое 6Dе<O. Эт8 теE=оло788 пDедоEт46лONт доEтуп к к4GеEт6е==о<у 
о5D47о64=8N 6 т.G. лNдO<, котоDKе =е <о7ут по76ол8тL Eе5е DоD<4лL=ое о5D47о64=8е. 

&еE=оло78GеEк8е DеHе=8O откDKтKE о5D47о64телL=KE DеEуDEо6 (6 EоGет4=88 E дDу78<8 
теE=оло78GеEк8<8 DеHе=8O<8), о5л4д4NI8е поте=F84ло< 6 о5D47о64=88, <о7ут 5KтL 
EDокуE8Dо64=K 6окDу7 EледуNI8E пD8кл4д=KE 74д4G 6 о5D47о64=88: 

- DоD<8Dо64=8е =о6KE 68до6 7D4<от=оEт8 =4 =4F8о=4лL=о< уDо6=е (74 EGет =4F8о=4лL=KE 
пл4тDоD< откDKтKE о5D47о64телL=KE DеEуDEо6); 

- DоD<8Dо64=8е =о6KE пD4кт8к о5уGе=8O; 
- по6KHе=8е пDоDеEE8о=4лL=о7о уDо6=O уG8теле9. 

 

&еE=оло78O F8DDо6о9 ко<<у=8к4F88 

 

! пD8Eодо< �К& (8=DоD<4F8о==о-ко<<у=8к4F8о==KE теE=оло789), 8, H8Dе - F8DDо6KE 
теE=оло789, ко<<у=8к4F8O Eт4л4 тD4=EDоD<8Dо64тLEO E тоGк8 7Dе=8O E6о8E E4D4ктеD8Eт8к: 
пDоEтD4=Eт6е==о-6Dе<е==KE, 6=утDе==8E EтDуктуD=KE, E4D4ктеD8Eт8к оD74=874F88 
7=4ко6/E8<6оло6 8 опоEDедEт6о64=8O пеDед4G8 7=4Gе=89 8 E<KEло6. 

� о5D47о64=88 =ео5Eод8<о 6KделOтL теE=оло78GеEк8е DеHе=8O о5еEпеGе=8O 8/8л8 
Eо7д4=8O ко<<у=8к4F88 8 о5еEпеG864NI8е Eо5Eт6е==о о5D47о64телL=K9 пDоFеEE. 

�4 д4==K9 <о<е=т EуIеEт6уNт EледуNI8е ке9EK 8EполL7о64=8O теE=оло78N F8DDо6KE 
ко<<у=8к4F89 6 о5Iе< о5D47о64=88: 

1. �еEEе=д6еDK к4к F8DDо6Kе 8=EтDу<е=тK ко<<у=8к4F88. �еEEе=д6еDK 74<еI4Nт 
пеDед4Gу Eоо5Iе=89 лN5о9 Eло6=оEт8, E лN5K<8 <ед84 (текEт, 68део, к4Dт8=к8, ко<п8лOF88 8 
т.п.) 8 =е пDедпол474Nт 74<еIе=8O Eо5о9 о5D47о64телL=о7о куDE4, <одулO 8л8 пDо7D4<<K. 

2. MOOC (MassiveOpenOnlineCourse) к4к FелоEт=ое 74<еI4NIее DеHе=8е, 8EполL7о64=8е 
MOOC пD8 Dе4л874F88 уGе5=о9 пDо7D4<<K. � DOде о5D47о64телL=KE оD74=874F89, Dе4л87о64=K 
пDоFедуDK, по76олONI8е 74EG8тK64тL Dе7улLт4тK оE6ое=8O MOOC по д8EF8пл8=4< 
о5D47о64телL=о9 пDо7D4<<K. &4к6е 5олLHо9 8=теDеE пDедEт46лOет пеDе6еD=утое о5уGе=8е E 
8EполL7о64=8е< MOOC длO E4<оEтоOтелL=о7о оE6ое=8O теоDет8GеEко7о <4теD84л4. �4пD8<еD, 
=екотоDKе о=л49=-пл4тDоD<K, поEтDое=K по пD8=F8пу <4EEо6KE откDKтKE о=л49=-куDEо6 8 <о7ут 



5KтL 8EполL7о64=K 6 пеDе6еD=уто< о5уGе=88. 
3. �л4тDоD<K длO Dе4л874F88 оE=о6=KE о5D47о64телL=KE пDо7D4<< к4к 8=EтDу<е=т 

оD74=874F88 уGе=8O, =е 74<еI4NI89 пол=оEтLN Mтот пDоFеEE, =о о5еEпеG864NI89 е7о 
Eо6еDHе==о =о6Kе E6о9Eт64 - ED4=е=8е о5D47о6 по6еде=8O, 6о7<о6=оEтL <7=о6е==о9 о5D4т=о9 
E6O78 о пDо7DеEEе о5уGе=8O, F8DDо6ое "доку<е=т8Dо64=8е" уGе5=о7о по6еде=8O 8 =4копле=8O 
5олLH8E д4==KE, пл4=8Dо64=8е о5D47о64телL=KE Dе7улLт4то6 8 "доку<е=т8Dо64==ое" ED46=е=8е 
74<KEло6 8 Dе4л874F88 о5D47о64телL=KE Fеле9, <=о7ое дDу7ое. �л4тDоD<4 6 д4==о< EлуG4е 
од=о6Dе<е==о 8 6EтD4864етEO, 8 тD4=EDоD<8Dует о5D47о64телL=K9 пDоFеEE 8 уGе5=уN 
ко<<у=8к4F8N, Eо7д464O 6о7<о6=оEт8 де9Eт68телL=о пеDEо=4л878Dо64==о7о о5D47о64=8O. 

4. &еE=оло78O 6е58=4D4 пDедоEт46лOет 6о7<о6=оEтL од=оEтоDо==е9 тD4=EлOF88 
68деопоток4 от од=о7о 8л8 =еEколLк8E пDепод464теле9. !луH4тел8, кол8GеEт6о котоDKE <о6ет 
5KтL оGе=L 5олLH8<, 8<еNт о7D4=8Gе==K9 =45оD 8=EтDу<е=то6 о5D4т=о9 E6O78 (7Dуппо6о9 G4т, 
ко=тDолL=Kе теEто6Kе 6опDоEK). 

5. !8=EDо==Kе DоD<4тK о=л49=-о5D47о64=8O, т4к8е к4к о=л49=-лекF88 8 
68деоко=DеDе=F88. �о7ут 5KтL 8EполL7о64=K длO Dе4л874F88 Eете6KE пDо7D4<<, пDо6еде=8O 
74=Oт89 длO 7ео7D4D8GеEк8 уд4ле==KE уG4I8EEO (=4пD8<еD, уEт4=о6оG=Kе лекF88 длO 
о5уG4NI8EEO 74оG=о9 DоD<K 6 Dе68<е 6е58=4Dо6). 

&еE=оло78GеEк8е DеHе=8O F8DDо6KE ко<<у=8к4F89 (6 EоGет4=88 E дDу78<8 
теE=оло78GеEк8<8 DеHе=8O<8), о5л4д4NI8е поте=F84ло< 6 о5D47о64=88, <о7ут 5KтL 
EDокуE8Dо64=K 6окDу7 EледуNI8E пD8кл4д=KE 74д4G (кл4EEо6 пDодукто6) 6 о5D47о64=88: 

1. !о7д4=8е 68Dту4лL=KE Hкол, 7де от 8<е=8 уG4Iе7оEO де9Eт6ует 464т4D, 4 де9Eт68O 464т4D4 
ото6деEт6лONтEO E де9Eт68O<8 уG4Iе7оEO. � подо5=о7о Dод4 DеHе=8OE ко<<у=8к4F8O 
о5еEпеG864ет 68Dту4лL=уN уGе5у 8 EтDо8тEO E уGето< о7D4=8Gе=89 8=EтDу<е=то6 ко<<у=8к4F88, 
6EтDое==KE 6 68Dту4лL=уN Hколу. 
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&4к к4к E8ту4F88 6 DоEE89Eк8E Hкол4 по Fело<у DOду 4Eпекто6 пDоFеEEо6 F8DDо6о9 
тD4=EDоD<4F88 (8=DоD<4т874F88) <о7ут 7=4G8телL=о D47л8G4тLEO, то поMт4п=уN EEе<у 6о7<о6=о 
о5о5I8тL 8EклNG8телL=о к4к <оделL ло78к8 оEуIеEт6ле=8O 87<е=е=89. � 7468E8<оEт8 от 
ко=текEт4, 74д4G о5Iео5D47о64телL=о9 оD74=874F88, уEло689, <о6=о =4 оE=о6е укDуп=е==KE 
7Dупп пDоFеEEо6 (Mле<е=то6 F8DDо6о9 тD4=EDоD<4F88) опDедел8тL текуIее EоEтоO=8е HколK 8 
=4<ет8тL пут8 Eо6еDHе=Eт6о64=8O ее D45отK. �деEL отделL=о =4до подGеDк=утL, Gто EEе<4 5удет 
=оE8тL оD8е=т8Dо6оG=K9 E4D4ктеD: отделL=K< ко<по=е=то6 т4ко9 ло78GеEко9 <одел8 дол6е= 
O6лOтLEO =45оD Dеко<е=д4F89 D47=K< 7Dупп4< уG4Eт=8ко6 о5D47о64телL=о7о пDоFеEE4 по 
оEуIеEт6ле=8N F8DDо6о9 тD4=EDоD<4F88, пD4кт8к, 6KD45отк4 8 утоG=е=8е котоDо7о <о6ет 5KтL 
оEуIеEт6ле=4 =4 547е Eет8 8==о64F8о==KE плоI4док F8DDо6о7о о5D47о64=8O, од=4ко, длO 
отпD46=о9 тоGк8 6 =4EтоOIе< доку<е=те пD86еде=K о5о5Iе==Kе =45оDK <еDопD8Oт89. � 
к4GеEт6е =4764=89 Mт4по6 8=те7D4F88 F8DDо6KE DеHе=89 6 деOтелL=оEтL HколK 6K5D4=K Mт4пK 
Eо7л4E=о CMMI (CapabilityMaturityModelIntegration (CMMI) - =45оDу <оделе9 (<етодоло789) 
Eо6еDHе=Eт6о64=8O пDоFеEEо6 6 оD74=874F8OE. Д4==4O EEе<4 пDедEт46ле=4 к4к =4 уDо6=е 
о5Iео5D47о64телL=о9 оD74=874F88, т4к 8 =4 уDо6=е Dе78о=4/DедеD4F88. Эт4пK 8=те7D4F88, 8E 
уG4Eт=8к8 8 <еDопD8Oт8O 5удут D47л8G4тLEO длO DеHе=89 D47л8G=о7о =47=4Gе=8O, 74д4G4 
D47D45отк8 <етодоло788 упD46ле=8O 8=те7D4F8е9 дол6=4 DеH4тLEO п4D4ллелL=о E 
DоD<8Dо64=8е< F8DDо6о9 8=DD4EтDуктуDK, D47D45отк8 пед47о78GеEк8E DеHе=89 8 D4768т8е< 
оD74=874F8о==KE <еE4=87<о6 8 DоD<. 
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о5Iео5D47о64телL=о9 оD74=874F88 пDедEт46ле=4 6 &45л8Fе 1. 

ДлO 6=едDе=8O F8DDо6KE теE=оло789 6 деOтелL=оEтL о5D47о64телL=о9 оD74=874F88 
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8=те7D4F88 F8DDо6KE теE=оло789 6 деOтелL=оEтL о5D47о64телL=о9 оD74=874F88 =4 
Dе78о=4лL=о</=4F8о=4лL=о< уDо6=е, оE=о6=KE 4ктоDо6 пDоFеEEо6 8 пDедло68тL пD8<еD=K9 
пеDеGе=L <еDопD8Oт89 =4 к46до< Mт4пе 4=4ло78G=о то<у, Gто 5Kло пDедEт46ле=о длO уDо6=O 
о5Iео5D47о64телL=о9 оD74=874F88. � пDедло6е==о9 EEе<е (&45л8F4 2) =е 6Kделе=4 EпеF8D8к4 
DеHе=89 (длO DеHе=8O 74д4G упD46ле=8O о5D47о64телL=о9 оD74=874F8е9 8л8 длO DеHе=8O 74д4G 
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тD4=EDоD<4F8N E8Eте<K о5Iе7о о5D47о64=8O, ле68т 6=едDе=8е <одел8 пDоект=о7о упD46ле=8O 
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пDоект4<8, 4 8<е==о: DоD<8Dо64=8е оD74=874F8о==о-Dоле6о9 E8Eте<K упD46ле=8O, D47D45отку 8 
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упD46ле=8O пDоект4<8, Eо7д4=8е <одел8 ко<пете=F88 6 о5л4Eт8 упD46ле=8O пDоFеEE4<8 
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=4 котоDKе <о6ет по6л8OтL D47D45отG8к F8DDо6KE DеHе=89, 6 Hколе <о6=о от=еEт8: 
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теE=оло789, 6KEтупле=8O MкEпеDто6 6 пDеEEе, 4 т4к6е 8EEледо64=8е DоEE89Eко7о 8 
<е6ду=4Dод=о7о пеDедо6о7о опKт4 8=те7D4F88 F8DDо6KE теE=оло789 6 деOтелL=оEт8 
о5Iео5D47о64телL=KE оD74=874F89, O6лONIееEO G4EтLN D45от по =4EтоOIе<у &еE=8GеEко<у 
74д4=8N До7о6оD4. � Dе7улLт4те MкEпеDт=о7о о5Eу6де=8O 5Kл8 ото5D4=K EледуNI8е D8Eк8 8 
пDедло6е=K <еDK по 8E E=86е=8N: 

1. Од=8< 87 7л46=KE E8Eте<=KE D8Eко6 DедеD4лL=о7о 8 Dе78о=4лL=о7о уDо6=е9 O6лOетEO 
отEутEт68е л85о =едоEт4тоG=4O поEледо64телL=оEтL D45от по Eо7д4=8N 8 D476еDтK64=8N Eет8 
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пD4кт8GеEк4O D45от4 по оE6ое=8N 8 D4EпDоEтD4=е=8N =о6KE DоD< уGе5=о9 D45отK, 
пед47о78GеEк4O поддеD6к4 уG8теле9 6 уEло68OE F8DDо6о9 тD4=EDоD<4F88, D47D45отк4 уGе5=о-
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D4ктоDо< Dе78о=4лL=о7о =еD46е=Eт64 Dе78о=о6 по Eтепе=8 8E F8DDо6о9 тD4=EDоD<4F88. � EлуG4е 
EелLEк8E Hкол д4==K9 D8Eк <о6ет 5KтL E=86е= 74 EGет Dе4л874F88 =о6KE DоD< 
Dу=кF8о=8Dо64=8O EоF84лL=о9 8=DD4EтDуктуDK (к4к <=о7оDу=кF8о=4лL=Kе Fе=тDK). 

3. !ледуNI89 D8Eк E6O74= E F8DDо6о9 ко<пете=т=оEтLN уG8телLEко7о коDпуE4. � 
допол=е=8е к 8<еNI8<EO <еE4=87<4< =епDеDK6=о7о по6KHе=8O к64л8D8к4F88 пед47о7о6, 



8==о64F8о==Kе плоI4дк8 <о7ут 5KтL 8EполL7о64=K длO Dе4л874F88 8=д868ду4лL=KE 
о5D47о64телL=KE пDо7D4<<. 

4.  8Eк, E6O74==K9 E отEутEт68е< л85о E =едоEт4тоG=K< уDо6=е< D4768т8O теE=8GеEко9 
поддеD6к8 пDоFеEEо6 F8DDо6о9 тD4=EDоD<4F88, O6лOетEO Eк6о7=K< длO 6EеE уDо6=е9 
(о5Iео5D47о64телL=о9 оD74=874F88, <у=8F8п4л8тет4, Dе78о=4, DедеD4F88). К4к пD468ло, =4 
пD4кт8ке 6еDоOт=оEтL Mто7о D8Eк4 E=864етEO =4 уDо6=е отделL=KE о5Iео5D47о64телL=KE 
оD74=874F89 8л8 =4 уDо6=е отделL=KE Mле<е=то6 F8DDо6о9 MкоE8Eте<K (к4к G4EтL теE=8GеEко9 
поддеD6к8 о5оDудо64=8O, пDодукт4 8л8 EеD68E4), =о D47D45отк4 <оделе9 теE=8GеEко9 
поддеD6к8 =4 D47=KE уDо6=OE O6лOетEO =еотJе<ле<о9 G4EтLN D45от по 8=те7D4F88 F8DDо6KE 
теE=оло789 6 деOтелL=оEтL о5Iео5D47о64телL=о9 оD74=874F88. 

5. ! D4EH8Dе=8е< 7о=K от6етEт6е==оEт8 Dуко6од8теле9 E8Eте<K о5D47о64=8O 6EеE уDо6=е9 
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